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Chapter 1 Quiz Review
       Advanced Algebra


For Questions 1 – 2, solve the equation for x.

1.  
[image: image1.emf]


12−3(2x +1) = 7x −3(7+ x)
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1.  ___________________________
2.  
[image: image2.emf]


5x − 9 = 8− 2x
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2.  ___________________________

For Questions 3 – 4, evaluate the expressions for the given value of the variable.

3.  Given h = -3, evaluate 
[image: image3.emf]


3(2h+1)− 2(h−3)
6+ h
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3.  ___________________________

4.  Given x = -1, evaluate 
[image: image4.emf]


−x2 − (3x +10)−8
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4.  ___________________________

5.  The expression 
[image: image5.emf]


−16t2 + 2000
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t

2

+

2000

 models the height of an 

5.  ___________________________

     object t seconds after it has been dropped from a height of 
     2000 feet.  Find the height of an object after falling for

     4.6 seconds.
For Questions 6 – 8, name the property of real numbers illustrated by the equation.

6.  
[image: image6.emf]


2(s− t) = 2s− 2t
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6.  ___________________________

7.  
[image: image7.emf]


7+ (−7) = 0
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7.  ___________________________

8.  
[image: image8.emf]


(−5 ⋅2) ⋅3= −5 ⋅ (2 ⋅3)
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8.  ___________________________

9.  Solve the following equation for x and



9.  ___________________________
     state any restrictions on the variables:
     
[image: image9.emf]


ax +10 = bx +19
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10

=

bx

+
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10. Simplify 
[image: image10.emf]


3y− (4y+ 6x)
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(4y

+

6x)

.





10.  __________________________

11. The formula for the time a traffic light remains yellow is 
[image: image11.emf]


t = 1
11
s+ 2










t

=

1

11

s
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2

, where t is the time in seconds 

      and s is the speed limit in miles per hour.
a. Solve the equation for s.




11a.  _________________________

b. What is the speed limit at a traffic light that remains 
11b.  _________________________
             yellow for 4 seconds?
For Questions 12 – 13, state to which sets of numbers the number belong.
12.  
[image: image12.emf]


− 0.04










-

0.04









12.  __________________________

13.  
[image: image13.emf]


0










0










13.  __________________________
14.  Solve the following equation for t:



14.  __________________________
       
[image: image14.emf]


S = r2t −3
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r

2

t

-

3


15.
Simplify 
[image: image15.emf]


3y2 +8− 2y2 −12
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15.  __________________________
16.
The sides of a triangle are in the ratio 15 : 20 : 25.

16.  __________________________

        What is the length of each side if the perimeter

         of the triangle is 120 centimeters?
17.
Find the opposite AND the reciprocal of the number 12.
17.  __________________________

18.  Solve the following equation for y:



18.  __________________________
       
[image: image16.emf]


5y = 9(y−8)+12
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9(y
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+

12
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